
SAP ABAP table GLE_MCA_STR_BSEG {MCA STR BSEG}

GLE_MCA_STR_BSEG

NEWBK [CHAR (4)]

BSCHL [CHAR (2)]

GSBER [CHAR (4)]

PARGB [CHAR (4)]

MWSKZ [CHAR (2)]

VBUND [CHAR (6)]

BEWAR [CHAR (3)]

KOSTL [CHAR (10)]

AUFNR [CHAR (12)]

VBEL2 [CHAR (10)]

POSN2 [NUMC (6)]

ETEN2 [NUMC (4)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]

ANBWA [CHAR (3)]

KUNNR [CHAR (10)]

LIFNR [CHAR (10)]

PSWSL [CUKY (5)]

ANLA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]

 GLE_MCA_STR_BSEG-ANLN2 = ANLA-ANLN2 
0..N

0..N

ANLH

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

 GLE_MCA_STR_BSEG-ANLN1 = ANLH-ANLN1 
0..N

0..N

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 GLE_MCA_STR_BSEG-AUFNR = AUFK-AUFNR 
0..N

0..N

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 GLE_MCA_STR_BSEG-KOSTL = CSKS-KOSTL 
0..N

0..N

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 GLE_MCA_STR_BSEG-KUNNR = KNA1-KUNNR 
0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 GLE_MCA_STR_BSEG-LIFNR = LFA1-LIFNR 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 GLE_MCA_STR_BSEG-NEWBK = T001-BUKRS 
0..N

0..N

T007A

MANDT [CLNT (3)]

KALSM [CHAR (6)]

MWSKZ [CHAR (2)]

 GLE_MCA_STR_BSEG-MWSKZ = T007A-MWSKZ 0..N

0..N

T856

MANDT [CLNT (3)]

TRTYP [CHAR (3)]

 GLE_MCA_STR_BSEG-BEWAR = T856-TRTYP 
0..N

0..N

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 GLE_MCA_STR_BSEG-VBUND = T880-RCOMP 

0..N

0..N

TABW

MANDT [CLNT (3)]

BWASL [CHAR (3)]

 GLE_MCA_STR_BSEG-ANBWA = TABW-BWASL 

0..N

0..N

TBSL

MANDT [CLNT (3)]

BSCHL [CHAR (2)]

 GLE_MCA_STR_BSEG-BSCHL = TBSL-BSCHL 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 GLE_MCA_STR_BSEG-PSWSL = TCURC-WAERS 

0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 GLE_MCA_STR_BSEG-GSBER = TGSB-GSBER 

0..N

0..N

 GLE_MCA_STR_BSEG-PARGB = TGSB-GSBER 

0..N

0..N

VBEP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

ETENR [NUMC (4)]

 GLE_MCA_STR_BSEG-ETEN2 = VBEP-ETENR 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 GLE_MCA_STR_BSEG-VBEL2 = VBUK-VBELN 

0..N

0..N

VBUP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 GLE_MCA_STR_BSEG-POSN2 = VBUP-POSNR 

0..N

0..N


